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A plant is adapteil to remove.thie flooding Cf its sells.in tresh Water:

(A) Mesophirtel | | —B) Castus . A Hydiophyte (D) Xerophyte
They have adlapaticng for reducad rate of transpiration:
(A) Hydrcphytes!, [-'_'5] Xeyopnytes (C) Mesophytes (D) Bryophytes

Thueategory, of prants that has adaptation of small and thick leaves to limit water loss is called:

| [(4) Fisdrophytes Xerophytes (C) Mesophytes (D) Aygrophytes
The more concentrated external environment is termed as:

Hypertonic (B) Hypotonic (C) Isotonic (D) Paratonic
A diluted solution compared to the cell concentration is termed as:
(A) Hypertonic Hypotonic (C) Isotonic (D) Paratonic
Among the vertebrates, hag fishes are isotonic with the surrounding:
(A) Fresh water Sea water (C) Pond water (D)River water
Hag fishes are:
(A) Osmoregulators ) Isotonic  (C) Hypertonic (D)Hypotonic
Which part of the plant body serves excretophores?
(A) Stem Leaves (C) Roots (D) Bark
1 g of ammonia nitrogen requires how much water for excretion:
(A) 50 ml (B) 100 ml (C) 250 mi () 500 ml
Animals excreting urea are called:
(A) Ammonotelic (B) Aminotelic Ureotelic (D) Uricotelic
The excretory product that requires maximum water for its removal is:
Ammonia (B) Creatinine (C) Urea (D) Uric Acid
Nitrogenous waste is very toxic and dissolves quickly in body fluid is:
(A) CO, (B) Urea Ammonia (D) Uric
The excretory product which require minimum water for its removal:
(A) Urea . Uric acid (C) Creatinine (D) Ammonia
Flame cells are part of excretory system of:
(A) Hydra (B) Cockroach Planaria (D) Earthweiiv., -
Animals of the group of flatworms have simple tubular excretory: Syst micabedias:] | b
(A) Kidney (B) Nephron ~ (C) Nephridia Mg Protariapiridil i\ O~
The planaria flatworm have sipaple tuhttar excretory sysiem, known 35|
Protonephridium - ByM! tangphridiuta)
© I\/Iesonera.rldlum —~ Y Prerephadiurn—""
Cockroach &=5ratd hit; ugemwu‘ wasias itithe 1orm of:
(A) Ammonia(B) Ureal | |\ 3 @] Uric acid (D) Allantoin
Eyereicry striciure réseént in cockroach are:
| LA € _\blm_c_cu'e vacuole . )) Malpighian tubules
. I(€, Nephridia (D) Flame cells
Nephridia are the excretory structures present in:
(A) Hydra (B) Planaria (C) Cockroach Earthworm
The Removal of Sebum on the Skin is for:
A) Nutrition (B) Excretion
ﬁ Protection (D) Thermoregulation
Number of Ammonia molecules required to produce one molecule of urea is:
(A) 01 ) 02 (C) 03 (D) 04

The chief nitrogenous waste in birds and reptiles is:
(A) NH3 (B) Urea Uric Acid (D) Creatirine
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Liver acts as a store house of:

Bile (B) Albumin (C) R.B.Cs (D) Iron
Liver also has numerous crucial functions of:
(A) Osmoregulation Homeostasis
(C) Excretion (D) Themoregulation A
Among vertebrates uric acid is the chief nitrogerjous waste in-irds.an d| .
(A) Fishes (B) Ampkhiians . r rReptiles | (D) Marhmais
The compound which take par? in urga cyclels: ' '
(A) Adenine—{B3) Guaririe @) Gitrullie. (DY Thymine
Which orgaris the seiitialisiaticn Hi-meabolism:
Kidney | | (B) 1iver - (C) Pancreas (D) Stomach
Uiifiz lzgves the klr* ney through adduct called:
| Uidtira = (B) Pelvis . Ureter (D) Nephron
Piessure filtration in kidney specifically occurs at:
- Il Bowman’s capsule (B) Loop of henle
The active uptake of sodium ions in the loop of Henle is provided by the action of hormone:
(A) Insulin Aldosterone (C) Oxytocin (D) Adrenaline
Non-surgical removal of kidney stone is called:
(A) Dialysis Lithotripsy (C) Uremia (D) Kidney transplant
High degree of renal failure is also called as:
Uremia (B) Leukemia (C) Anemia (D) Lithotripsy
The incidence of calcium oxalate types stones of Kidney is:
(A) 40 % (B) 50% (C) 60% ) 70%
Abdomen has a peritoneal cavity, lined by a thin epithelium called:
(A) Ectoderm (B) Endoderm . Peritoneum (D) Epidermis
The incidence of uric acid kidney stones is:
M 10% (8) 15% (C) 20% (D) 70%
Most land mammals respond to cold by raising their:
(A) Skin Furs (C) Bristies (D) Spines
Which one of the following is an Endotherm:
Birds (B) Bat (C) Humming Bird  (D)Reptiles
Which one of the following is an ectothem:
(A) Brid (B) Huming bird Amphibain (D) Bat

Chemical that cause fever and are produced from blood cells are:

(A) Bilirubin (B) Interferons [{8) Pyrogens (D) Anti biodies

Human body temperature is controlled by: e == L
Hypothalamus ~ (B) Pons (C) Medullz™,  ~By<Carehallm| (2 | 0=
The nature of shivering thermOﬂene5| a,Japf“wow sy oA\ L e

(A) structural .phy5|olog|cal 5 oS/ hrlcqlul ) (b} behzsioural

Bundle caps+n suqflovvﬂr siern,\ar's fnrmed by |

IN) Sclerenciima || Ty () (R\)\R re nd‘.yma

©) Mesenchym1 A | (D) Collenchyma

Turggrglr 25541 s dénerited by hlgh osmotic pressure in plants cell:

T lduﬂaﬁ .Vacuole (C) Mitochondria (D) Chloroplast

The collenchymas cells have protoplast and usually lack.

(A) Primary wall Secondary wall

(C) Middle Lemella (D) Vacuole

The membrane that bounds vacuole is called:

Tonoplast (B) Leucoplat (C) Chromoplast (D) Chloroplast
Angular thickenings in their primary walls are present in:

(A) Parenchyma Collenchyma

(C) Sclerenchyma (D) Tracheids

An increase in plant girth due to activity of vascular cambium is called:
(A) Primary growth Secondary growth
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(C) Sap wood (D) Heart wood

The Sclerenchyma cells found in seed coats and nut shells are the:

(A) Fibres (B) Vessels Tracheids (D) Scleriedes

This type of wood is most resistant to decay and insect attack.

Heart wood (B) Sapwood (C) Cork (D) Bark:—, | |
The sclerenchyma has thick secondarywalls Lsually.iripregnatec, viith:

(A) Chitin (B) Pectin— @y silica | B Lignin
The movement in response to stirpuius pfthulhii.e, ‘Clisabing-vines isicalled:

(A) Hydrotropi¢m &) Thigmaifenishi

(C) Phototrogisi (D) 2estropism

Haptonastic cvements aceu-in response to:

’C,‘,PC(_m;;.L(t - \B) Chemical (C) Temperature (D) Water

| actienjotthe Venus fly trap is:

(A) Nyctinasty (B) Photonasty Haptonasty (D) Thermonasty
Movement shown by sperms of liver worts, mosses and forns towards archegonia is a:
Chemotactic movement (B) Photoactic movement

(C) Chemotropic movement (D) Phototropic movement

Which bone provide attachment site for muscle:

Compact bone (B) Spongy bone

(C) Soft bone (D) Cartilage

The process of moulting is controlled by the nervous system and a hormone called:"
(A) Aldosteron (B) Androgen

Ecdysone (D) Oxytocin

Mature bone cells are called as:

Osteocytes (B) Osteoblasts

(C) Chondrocytes (D) Blastocytes

Define Cartilage. What are two types of cartilage?

(A) Humerus (B) Femus (C) Tibia Rib

The number of cervical vertebrae are:

07 (B) 12 (C) 33 (D) 22

The fusion of four posterior vertebrae present in the pelvic region form:

(A) Sacrum (B) Lumbar Coccyx (D) Chest cage
All of the following bones are associated with coxal bones, except:

(A) Hium (B) Ischium (C) Pubis Clavicle
The joints that allows movement in several directions is called: .
(A) Fibrous Joint (B) Synovial Joint L T N |
(C) Hinge Joint ) el and Sacketloine, N | (T oS
Sciatica is characterized by stahbing pam ract 1tng Gvar e cour: e af: | :
(A) Sciatic artery T\ &Y scidtic nerve |

(C) Sciatic veini VW \(D)S<iatic-czpitiary

Which one ¢£xhe 1ofloy *no 15 r.o'r ajﬁwt disease:

(A) Arthritis | [(3) Spiatica | | (C) Disc Slip (D)Spondylosis

A diseaze vhithidausae :mmoblllty and fusion of vertebral joint is called:
{4 Bise Slip) @) Sciatica (C) Arthritis  [{B)) Spondylosis

The mTIammatory degenerative disease of joint is:

Arthritis  (B) Sciatica (C) Herniation (D) Spondylosis

The beginning of bone formation, starts after injury:

3-4 months (B) 2-3 months (C) 8 weeks (D) 8-12 weeks
Trpomyosin is a complex of how many polypeptide chains?

(A) Single Double (C) Triple (D) None

The disease caused by low calcium in blood is called:

(A) Tetanus (B) Cramp (C) Sciatica Tetany

70.

Which is the end of muscle which remains fixed when the muscle contracts?
(A) Insertion Origin (C) Tendon (D) Belly
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There are muscles in the human body most of which occur in pairs:
650 (B) 630 (C) 660 (D) 645
What is mortality rate in developing countries due to Tetanus?
(A) 35% 40% (C) 45% (D) 50%
Which animal shows digitigrade mode of locomotion? - °
(A) Bear (B) Dear _. [@) Rehbit (DjHorge
A respiratory protein found irn-&il aerchit seecies|Is:
(A) Cytochrome 'a’ (B) Cytoclircme b’
Cytochramig,'c - | YD) €vtcchrome 'd'
Which animzimoves By jer-profulsian: '
(A) Earth worm' '\ % (R)'Star Fish (C) Snail Jelly Fish
Euniznz moves with tie help of:
A Giljum - (B) Pseudopodium - (C) Myonemes Flagellum

Thie diameter of cilia ranges from:
0.1 t0 0.5 um (B) 0.1t0 0.5 mm
(C) 0.36 t0 0.8 um (D) 0.3t0 0.8 mm
The mammals who walk on tips of the toes, modified into hooves are termed as:
A) Plantigrades (B) Unguligrades

Digtigrades (D) Brachigrades
The supracoracoid muscles provide power for the:
Upward Stroke (B) Downward Stroke
(C) Recovery Stroke (D) Neutral Stroke

Digitigrade mammals tend to walk on their:
(A) Jelly fish  (B) Silver fish (C) Cuttle fish Star fish
The plant hormone that inhibit the growth of lateral shoots:

Auxins (B) Gibberellins (C) Cytokinins(D) Ethene
Promotes closing of Stomata under conditions of water stress:
(A) Auxins  (B) Gibberellins (C) Cytokinins Abscisic acid
Ethene induce flowering in:
(A) Banana (B) Rose Pine-apple (D) Orange
Nissl's granules are group of:
(A) Mesosomes (B) Lysosomes Ribosomes (D) Chromosomes
The processes conducting impulses away from the cell body are called:
(A) Dendrites (B) Dendron (C) Nissl'sgranulis Axon .
The sensation of pain is produced by: {
(A) Chemoreceptors (B) Photoreceptors — [~ [
(8 Nociceptors _ (D)iviechanqrecepitrs N N [T Lo
Nociceptors produce sensationof: () AR RIER Y
(A) Touch Pain | | ~70 | fCyWamnth_} |} | {Z)Pregsure
Resting memkrarie potentiaief'a meuiron i5: ) e
(A)50mv =\ L\ U(B-e0my) T \ _&=70 mv (D) -80 mv
In neurons the ‘meszage 15 transn'itied across synapse in the form of chemical messenger called:
X Neuroiransmitters| - (B) Communication
[ {5 HEve Irabtise (D) Synaptic Vesicle

I’h2 nUmber of spinal nerve in man is:

(A) 24 62 (©) 12 (D) 31

Diffused nervous system is found in:

(A) Poriferans (B) Platyhelminthes Cnidarians (D) Annelids

The largest part of brain is:

(A) Hypothalamus (B) Cerebellum Cerebrum (D) Pons

In human mid brain is:

Reduced (B) Enlarged (C) Swollen (D) Broken

The structure in human brain which control hunger is:

(A) Amygdala (B) Hippocampus (C) Thalamus Hypothalamus
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Alzheimer's disease is:

(A) Physical illness Mental illness

(C) Renal illness (D) Pulmonary illness

Alzheimer's disease is characterized by the decline in the function of:

Brain (B) Liver (C) Kidney (B Stomagh-
Effective drug available for Parkinson's.disea:e is: " C
(A) Nicotine (B) GDNF L (CrolzT @) L-copa
Endocrine glands secrete '

Hormon;ss (Bj-Salts () Enzymes™ (D) Mucous

Which horméie isichemically stercie?
(A) ADH_, ' [i&} Cortivostercre’ — (C) Thyroxine (D) Insulin
ThpcorpLs Jutewinsceires a hormone called:

ey AOx yidine . 3)] Progestrone (C) Ostrogen (D) Testostrone
Irisulin and glucagon hormones are in nature:

(A) Carbohydrates Proteins

(C) Steroids (D) Polypeptides

Ovulation is induced by:

(A) FSH LH (C) Estrogen (D) Progesterone

Excess thyroxine produces a condition called:

(A) Cretinism (B) Dwarfism [(8] Grave's disease (D) Cushing's disease

Kohler used chimpanzee to prove:

(A) Habituation (B) Imprinting (C) Latent Learning [()] Insight learning

The form of learning which involve a diminish of response to repeated stimuli.
(A) Imprinting [(8)] Habituation (C) Conditioning (D) Latent learning
Higher from the Iearnlng is the:

A) Conditioned reflex type-I (B) Imprinting

ﬁ Insight learning (D) Latent learning

Fruit development without fertilization is :

(A) Dormancy (B) Climacteric

Parthenocarpy (D) Parthenogenesis

Parthenocarpy is sometimes artificially induced in tomato, peppers etc, by adding:
Auxins (B) Cytokinins(C) Abscisic Acid (D) Ethene

Vehicle for transport of male gamete in land plants is:

(A) Water Pollen tube (C) Pollen grain (D)Wind
Developing seeds are a rich source of:

(A) Auxin (B) Gibberellins © Cytoklnlns AII of *he<e
Reproduction is very important to the survivei cf: - NN .

Species (B) Individual (C] Pf)pule+ or,D)CLmT ur, |t' |

Fruitripening is often accom anind 5y DUrft ot renplramr ractivity called:
(A) Apomixes- 1 — ) Clim: 1ct=r|r —

(C) Photopetiadisn’, |~ | D\ Eriiosparm

Evolution of ochizni tuke fs po rallai-to the evolution of:
(AySteral| )\ LB Leaves (C) Flower ) Seed
RB10 75 duiescent from, is converted to active p730 by the absorption of:

(&) Biue light Red light (C) Yellow light (D) Far red light
The light which promotes germination of fern spores:

(A) Green (B) White (C) Blue Red
Which is a long day plant?

(A) Soyabean Henbane (C) Tomato (D) Cucumber
Photoperiod affects flowering meristems start producing:

Floral buds (B) Leaves (C) Lateral buds (D) Branches
Cucumber, tomato, garden pea, maize, cotton are example of:

(A) Short day plant (B) long day plant

Day- neutral plant (D) Night-neutral plant
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Example of Day Neutral plant is:

Tomato (B) Soyabean (C) Xanthium (D) Chrysanthium
In nature to P730 to P660 Conversion occurs in:
@) Dark (B) Light (C) Morning (D) Evening

Type of asexual reproduction: |
(A) Fertilization (B) Vernalization m Apo'mxec (D) RN otopﬂnodlsm ;
The animals that lay shelled eggs to prat=ct.iiic develpping embryo aie ,aIIed:

@ Oviparous (B) Viy/|pdrols
(C) Ovovivigaigus (2)\Eyg raying imaiiimals
Fertilization:isitne'crosess whigh: leads s&-tne union of:
(A) Individuals | | ' \[@E) Gemistis—(C) Sperms (D) Eggs
Ir oriey, bee, maies'aie hapI0|d and produce sperms by:
"I[ W) faitess (B) Meiosis (C) Apomixis (D) Parthenogenesis
|-|a loid males produce sperms by mitosis:
Honey bee (B) Earth worm (C) Hydra (D) Man

The hormone responsible for production of sperm cells and male secondary sexual
characteristics during puberty is:

(A) Progesterone Testosterone (C) Thyroxin (D) Estrogen

Discharge of egg from the Ovary is called:

(A) Oogenesis Owulation

(C) Gametogenesis (D) Spermatogenesis

The first convoluted part of vas deferens is called:

Epididymis (B) Penis (C) Scrotum (D) Sperm

The release of ovum from the ovary is called

Ovulation (B) Menstruation (C) Follicle atresia (D) Menace

Decrease of FSH and increase of estrogen causes the pituitary gland to secrete:

LH (B) LTH (C) TSH (D) ACTH

Oestrus cycle, a reproductive cycle is found in all females except:

(A) Cat (B) Cow Human being (D) Lion

The yellowish glandular structure corpus luteum, starts secreting a hormone:

(A) LH (B) FSH (C) Oestrogen Progeserone

Towards the end of pregnancy, the reduction in progesterone level, stimulates pituitary gland
roduce:

Oxytocin (B) Oestrogen (C) Androgen (D) Pro lactin
Average loss of blood during birth in human female is about:

(A) 350 cm® (B) 350 cm? @) 350 cm (D) 350 mt, L[
In human female the total gestation period is fernale is usu; afivabo: Jt [ O\
280 days (B) 280 weeks .. (CJ.2B months T | | (7)) d6deys: ' '

The hormones that induces Laboursain | | ) -

(A) Lactogen-TG] Oxytorin—<&)\Liel £ | | (P L7k

The human ‘ezl r)c, IS4 @ferlno. 0 as t\hafm us;irom beginning of:
Iy) 3 Montf, (i3} 3(\Wieck | {C3 ™' Month (D) 6" Week
Lll'*°r|| ingy hoririorielin human female induces:

[(A)Niensrizton — (B) Menopause (C) Oogenesis [{8)] Ovulation
Frimary growth in plants is caused by:
Apical meristem (B) Lateral meristem
(C) Intercalary meristem (D) Rib meristem
Intercalary meristems are situated at:
Root Apex (B) Shoot Apex
(C) Base of Internode (D) Top of Internode
Secondary growth leads to an increase in the diameter if the:
(A) Stem (B) Root (C) Leaf Stem and Root

The meristems that are found at the tips of roots and shoots are called:
(A) Lateral meristems (B) Intercalary meristems

-
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(C) Secondary meristems Apical meristems

The removal of apex releases those Lateral buds from the apical dominance. It is called:
(A) Inhibitory effect Compensatory

(C) Apical dominance (D) Reproduction

The mesodermal cells do not invaginate but migrate medially awd caudmly frrh kit arid
create a midline thlckenlng called: :

(A) Hensen's Node [{3)] Primitive-streak (<3 Epiuiast(iD))\Hypoblast

Immediately after fertlllzatlon the 2caguricer goey & seriesicfrnitoticidivisions called:
(A) Morulla; ™ (Ey-Gastrinaion ~ @ Cleavage (D) Blastula

The Shell, oviér thick €gi it secigted as #-passes through:

(A) Ovarv (B Dviicee Uterus (D) Cloaca

Thcayity formad.Letween somatic and splanchnic mesoderm is:

fAN AddRenteion (B) Hensen's node Coelom (D) Neurocoel

Hatching period of chick is:

(A) 15 days (B) 18 days 21 days (D) 28 days
Somites are formed and organized by:

(A) Ectoderm . Mesoderm (C) Endoderm (D) Blastoderm

The discoidal cap of cells above the blastocoele is called:

(A) Ectoderm (B) Mesoderm (C) Endoderm Blastoderm
The pigment free area that appears at the time of fertilization is called:
(A) Embryo (B) Yolk Gray crescent (D) White cytoplasm

The grey equatorial cytoplasm in fertilized egg of ascidian produce:
(A) Gut (B) Muscle Cells (C) Larval epidermis Notochord tube
Gray vegetal cytoplasm gives rise to:

Gut (B) Muscle Cells (C) Larval epidermis (D) Notochord

(A) Muscle Cells (B) Gut Larval epidermis (D) Notochord

The negative physiological changes in our body are said to be:

(A) Maturation (B) Childhood Aging (D) Death

Unspecialized cells, neoblast are always present in body of:

(A) Salamander . 3)] Planaria (C) Newt (D) Lizard

The unspecialized cells present in flatworms and planaria are:

- Neoblast (B) Osteoblast (C) Osteoclast (D) Chondrocyte

Chromosomes appear inside the nucleus at the time of:

Cell Division (B) Cell Elongation .
(C) Cell maturation (D) Cell differentiation {

The base pairs in human genome are: e == (L
(A) Two billion [ Three billion _ (C)Fawr billisy - (i), Five/bjilioh | &
Highly condensed portions of the chrdmatin azie uﬂlled * il

A) Homochromatin (B} Euckmmétin [
ﬁ Heterochmrialin D) Anardmiatin -
The particuia®, &riidy o.v‘hrcm D3 Ol’i‘"S atiary .nlelduaI possess is called its:
(A) Genotype, (i3} Phnotypy |\ (8] Karyotype (D) Epistasis
In_1882; tlhroincs IMESLVETE flrst observed by:
'U\ I E G (B) T.H. Morgan
&, Walter Fleming (D) Walther Sutton:
Walther Fleming first discovered chromosomes in the dividing cells of:
(A) Frog Larvae B) Sea Urchin Larvae
(C) Insect Larvae Salamander Larvae

Transfer of genetic material from one cell to other that can alter the genetic make-up of
recipient cell is called:

Transformation (B) Translation
(C) Transcription (D) Replication

X-Ray diffraction analysis of DNA was performed by:
(A) Erwin Chargaff (B) Watson & Crick

-
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Rosalind Franklin (D) Charles Darwin
Pentose sugar in the molecule of DNA is:
(A) Ribose Deoxyribose (C) Lactose (D) Sucrose
The stand which replication towards the replication fork is:
Leading (B) Lagging (C) Okazaki (D) Primer : AN EE
In 1953, F.Sanger described the sequerce of Amino.Acids Hf:
(A) Myoglobin (B) Keratii : @_ijnsrnin _ (D) Globulin
In sickle cell anemia code for glumatic ac.c i< repiaced-dy. ' '
Leucine; ™ (Ey-Histidine Y (€) Valine = (D) Proline
OR Which stiarid 0t DNA isitrafsdriben>
(A) Coding strarc, % | ) (B) Sense strand
IG5 2 nitice ise striukd (D) Conservative strand
| 1.orlenfitind given does not code for any amino acid:
(A) AUG (B) ACU (C) GAU UAA
In bacteria, human and all living organism, AGA specifies:
(A) Phenylalanine  (B) Leucine (C) Methionine Arginine
Nerve cells and eye lens cells remain in stage for life time:
(A) Gy (B) G Go D)s
The period of life cycle of cell between two consecutive divisions is termed as:
(A) Resting phase Inter phase (C) Gy phase (D) G, Phase

In the case of human cell, average cell cycle is about:

24 hours (B) 26 hours (C) 28 hours (D) 30 hours

Full cell cycle in yeast cells has length of:

(A) 30 minutes (B) 60 minutes (C) 90 minutes 120 minutes
Post mitotic cells can existthe cell cycle during:

(A) G -phase G; — phase(C) S-phase (D) G,-phase

Chromosomal Doubling Occurs in:

(A) G; phase S phase (C) G, phase (D) Go-phase

RNA and protein called:

(A) Insulin Tubulin (C) Actin (D) Myosin
The microtubule is composed of traces of RNA and protein called:

(A) Myosin (B) Troponin (C) Actin Tubulin

The microtubules are composed of a protein tubulin and traces of:

(A) DNA RNA (C) Lipids (D) Terpenoids

During cell division, the nuclear division is called: .
(A) Cytokinesis Karyokinesis (C) Karyotype (D) Plasmelysis [*
Contractile ring in cytokinesis is formed by: ! - | | (¢

(A) Tubulin Actin & Myofin) (C)-erdtil| | (2) (.jy\.;liq"- |
Each bivalent consists of four: 71 i b 1

(A) Chromosen@s|, .~ @y Crioinatids (C)-Chiasmata (D) Spores

The chromaia ‘materizdl gets cv.nd._e‘;ﬁs\e\q by foiding and chromosomes appear as thin thread in
mitosis at the bagiriring of:| |\ '~

(Axtnesitlase, |\ | &) Prophase (C) Metaphase (D) Anaphase

STnedined - wiien is localized and not transferred to other body parts:

(A, Mmalignant [{8)) Benign (C) Apoptosis (D) Necrosis

Which one sub-stage of prophase-1 of Meiosis-1 lasts for days, week or even years?
(A) Zygotene (B) Leptotene Pachytene (D) Diplotene

In which stage of Meiosis, crossing over occur:

(A) Leptotene Pachytene (C) Zygotene (D) Anaphase
The stage of prophase that last for days, week or even year is:
(A) Leptotene (B) Zygotene Pachytene (D) Diplotene

The prophase stage in which the chromosomes become visible, shorten and thick:
Leptotene (B) Zygotene (C) Pachytene (D) Diplotene
In which stage of Meiosis, the paired chromosomes repel each other and begin to separate:

-
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(A) Leptotene (B) Zygotene Diplotene (D) Pachytene
191. The condensation of chromosomes reaches to its maximum during
(A) Pachytene (B) Zygotene (C) Diakinesis Leptotene
192.  Synapsis occurs during:
(A) Pachytene (B) Leptotene [{8) Zygotene (D) Diplotene A
193. Unequal separation of chromosomes is-<alled:’ '
(A) Disjunction (B) Separsiion E‘ Mon-aisjunction’ () Mefa<tas S|
194. Plasmlds were discovered while studving e el Lita ¢f:
I E.Coli ™ - (B) iHynhorriicrobium
(C) Vibriofi - . D) Mycobacterium
195. Cell death,due G, tisdue. oamagc is called:
(A APOaLosis (B) Meisstasis . Necrosis (D) Suicide
1]a 3. paooplosicis,
| “.(A) Division of cells (B) Death of Cells by tissue damage
Suicide of cells (D) Weakness of cells
197. Programmed and organized process of cell death is also called as:
Apoptosis(B) Necrosis (C) Cyclosis (D) Chlorosis
198. The position of gene one chromosome is called its:
(A) Allele (B) Phenotype [{®) Locus (D) Genotype
199. The genes found in a breeding population constitute:
(A) Genotype (B) Genome (C) Gene frequency Gene Pool
200. Expression of a trait is termed as:
(A) Genotype . 3)] Phenotype (C) Wild type (D) Dominance
201. Mendelian factors were renamed as "genes’” by:
(A) Mendel Correns (C) Johannsen (D) Morgan
202. The cross which is used to find out the homozygous or heterozygous nature of the genotype is
called:
Test cross (B) Reciprocal cross
(C) Monohybrid cross (D) Dihybridcross
203. Different alleles of a gene that are both expressed in a heterozygous condition are called:
Codominant (B) Over dominant
(C) Complete dominant (D) Incomplete dominant
204. MN Blood group is example of:
(A) Complete dominance Co dominance »
(C) Incomplete dominance (D) Over dominance {
205. RH Blood group system is named after: i
(A) Discoverer Rhesus monkey (C) AiPitient (I Rr.imcems (O
206. The individuals called unlversal remp lentshasa 40\ LWL L T
(A) A blood group 3B hlogd™ 1rLLp
(C) O blood grofip e | B2 head-group
207. In 1901, AB& foup svsterm NES di?co efi Gy
(A) Punnet | [O] Kcr[ Lart dateiner (C) Bern Stein (D) Wiener
208. A h"rfm lhavind neutm antigen A nor B whould have blood group:
e N ow A (©)B (D) AB
| _])9 ' [P Jman skin colour is controlled by gene pairs:
| (A) Two to Four Three to Six (C) Four to Six (D) Six to Ten
210. A gamete without any sex chromosome is called:
(A) Homogamete (B) Heterogamete
(C) Isogamete Nullogamete
211. The sex chromosomes were discovered by:
(A) Sutton Morgan (C) Jordan (D) Correns
212. The true colour blindness is:
Monochromacy (B) Dichromacy

(C) Tetrachromacy (D) Trichromacy
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230.
231.

232.
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237.

Green colour blindness is called:

Deuteranopia (B) Protanopia (C) Tritanopia (D) Colour blind
The gene that triggers towards maleness is:

(A) TFM SRY (C) MODY (D) BOR
Hypophosphatemic rickets in an trait: : )

X — Linked (B) Y — Linked (C).X and Y liked ([5)"&n Actosemal |
The maturity on set diabetes ciihe younyy isy _ _
(A) An autosomal recessive trait JBY Ar wioshniad ceininenttrait

(C) A sex linkeg, trait (D) A\ sex iiiiluenced trait

The enzymes-wilich'ara usta tc, Gut Gut e gene of interest are known as:
(A) DNA ligese | '\ | | ' 7 (B) DNA polymerase

(CxPNL rolymerase Restriction Endonuclease

| 5Eb RY 1e-a commonly used:

(A) Gene Restriction Enzyme (C) Bacteriophage (D) Bacteria.
PSC 101 has antibiotic resistance gene for:

Tetracycline (B) Ampicillin (C) Neomycin (D) Ergotine

Recombinant DNA is introduced into the host cell

(A) phage vector (C) bacterium (D) fungus

Taqgpolymeraseare enzyme present in:

(A) Fungi Bacteria (C) Alga (D) Bacterium

Organisms that have had a foreign gene inserted into them are called:
Transgenic Organism (B) Hermaphrodites

(C) Polygenesis (D) Transmuted organisms

Anti -Thrombin 111 is a biotechnological product produced by:

(A) Sheep Goat (C) Mice (D) Cow

Urine is preferable vehicle for a biotechnology product than:

Milk (B) Blood (C) Plasma (D) Tissue Fluid

Transgenic bacteria are produced in large vats called:

(A) transducer bioreactor (C) biomultiplier (D) Culter media

Cystic fibrosis lack a gene that codes for trans-membrane carrier of:
Chloride ion (B) Sodium ion (C) Calcium ion (D) Magnesium ion
Patients of cystic fibrosis numerous infections of:

(A) Digestive tract (B) Excretory tract
Respiratory tract (D) Reproductive tract

An antibody made by soya beans can be used as treatment for: .
(A) AIDS (B) Herpes simple Genital Herpes (D) Hepatitis € /*
The enzyme luciferase is produced commonlykhown as-the: - L [ [
(A) House fly (B) Butterfly (C).Caddis fliy [(®-=irzifly |

The ultimate source of changet is: Fal } \

(A) Evolution-I{] Mutatior—(€)|Graelic'drits '/ (D)-Migration

Among the sefentists who helievadin divin creation was:

(A) Lamark | 1\ | (B)Dérwir ' Carolus Linnaeus (D) Hyell
Lvell publishid the nrirciple of ,

[ {4 Repuetian'=" — (B) Community (C) Biome Geology
~x: essay on the principle of population was published by:
(A) Darwin (B) Wallace (C) Linnaens Malthus
The idea of endosymbiont was purposed by:
(A) Cuvier  (B) Lyell (C) Malthus Margulis

According to endosymbiont hyposthesis, the aerobic bacteria developed into :
(A) Ribosome (B) Lysosome Mtochondria (D) Plastids

Alfred Wallace developed a theory of natural selection essentially:

(A) Linnaeus's Darwin's (C) Lamark's (D) Mendel's

Book ""The Origin of Species’ was written by:

(A) Linnaeus Darwin (C) Lamark (D) Wallace
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Acquired characteristics of an individual cannot be:

Inherited (B) Flourished (C) Lost (D) Migrated
Biogeography is the geographical distribution of:
(A) Phylum Species (C) Classes (D) Genp_ra

Which of the following is vestigial organ of whale:
(A) Pelvis  (B) Leg bones (C) Lungs . [{B))Pelvisand ey honed,
The armored mammal that livesionly a-America’

Armadillos (B) Penguin (C) Ezhicna (D) Parcupine
Armadillos /trig armorec-inamiraais live'orily iri :
(A) Africa  © [GY Ambrica |\(€) Tuirdpe (D) Asia
Tubes that cennectitne'middia<ar with the throat in humans are called:
m £ stachiar tube. (B) Neural tube
Y Eallopaarr tube (D) Nephridial tube

' V\, mch one is not a vestigial organ of human being?

(A) appendix (B) Coccyx  (C) nictitating membrane eye lid
In fish, the gill pouches develop into:

Gills (B) Pharynx  (C) Eustachian tube (D) Fins
A group of individuals belong to a particular species and sharing a common geographic area is
called:

(A) Family Population (C) Species (D) Community

Some individuals leave behind more progeny than others and the rate at which they do so is
affected by their inherited characteristics. This is called:

(A) Non random mating [(8)] Selection (C) Migration (D) Mutation

The change in frequency of alleles at locus that occur by chance is called:

(A) Mutation (B) Migration [{8) Genetic Drift (D) Selection

In 1917, term Niche was first proposed by American Ornithologist named:

(A) Charles Eltarf [{8)] Joseph Grinnell (C) Ernst Haeckel (D) Lamarck

The actual location of place, where an organism lives is called its:

(A) Niche (B) Environment Habitat (D) Ecosystem

Any group of inter breeding organisms of the same species that exist together in both time and
space is called:

(A) Community Population (C) Ecosystem (D) Biosphere
The whole of the world land is called:

Lithosphere (B) Ecosphere (C) Hygrosphere (D) Biosphere

All the food chains begin with:

Producers (B) PrlmaryConsumers L N
(C) Secondary consumers (D) DecomJosers AT NN [ O 0=
Lithosphere includes: . AR RIER Y

Y] Earth Soil (B) Air \ e Wathr | ',(D' Casas

The abiotic component of & ocaswtr m s e

-Temperat ey (B‘ Pi 01u il (M\( NSUNE: (D) Decomposer

In each case jugcession, is it ifiaied vy a few hardy invaders called:

(A\ Starter ﬂ innrs (C) Climax Community (D) Decomposers

1 ) ldew \Witiivery small surface area, are found in:

(A Hydrophytes (B) Mesophytes 8] Xerophytes (D) Sciophytes
Lichens are example of:

(A) Parasitism (B) Predation Mutualism (D) Commensalism

The animal that is caught and eaten is called:

(A) Predator Prey (C) Host (D) Parasite
Moderate grazing is very helpful to maintain ecosystem:

(A) Tundra Grass Land (C) Pond (D) Desert
The bacteria in the root nodules fix nitrogen and convert it into:

(A) Nitrate (B) Nitrite Amino Acid (D) Ammonia

Lichen is a symbiotic association between a fungus and:

-
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(A) Gymnosperm (B) Angiosperm Analga (D) Pterrdophyta

In root nodules, the organisms present are:

Bacteria (B) Cyanobacteria (C) Algae (D) Fungi
In aquatic ecosystem, near shore zone is called:

[ Littoral zone (B) Limnetic zone (C) Profundal zone (D) Benthic:zGie,
Fresh water ecosystem covers less than: '

(A) 7% B)5% (@9 m 1%
Here, light is insufficient to sugpc¢ri pantesyrithizsis: ' '
(A) Littoral Zoin? - | (B) timretic Zone
Profunda®Zcne . \(D) Phgioplankton Zone

Limnetic phytopiar kton inclt:de ine:

(AsBeciria [Eﬁ Cyaiiobacteria (C) Fishes (D) Mosses

| i) spermatophytes, important adaptation is the evolution:

I35 Seed coat (B) Pollen tube (C) Fruit (D) Flower
Coniferous forests located at high latitude are called:

(A) Alpine Boreal (C) Taiga (D) Prairies
Temperate deciduous forests are located in Pakistan at:

Shogran (B) Chilas (C) Mionwali (D) Sind

Perhaps the most fragile of all the because of its short growing season is:
Tundra (B) Desert

(C) Grass land (D) Temperate Deciduous forest
Northern coniferous forest is caIIed:

(A) Savanna (B) Prairies 9 Taiga (D) Tundra

Coniferous forest located at high attitude are called:
(A) Deciduous forest [(3)] Alpine forest (C) Tundra (D) Grass land
Layering is the characterlstlc of:

(A) Tundra (B) Desert (C) Taiga Grassland
Grassland ecosystem in Pakistan is found in:

(A) Chilas Chitral (C) Dir (D) Swat

In Sindh, the desert ecosystem is called:

Thar (B) Thal (C) Sahara (D) Gobi

Desert ecosystem of Bhakkar and Mianwali is called:

(A) Thar Thal (C) Sahara (D) Rohi

The biomes which has been increased in area by human activities:

(A) Grassland (B) Tundra Desert (D) Coniferous forests

A succulent plant has water stored in tissue: e TR |
Cacti (B) Moss ~ (C)iThrmow — (D‘ 1'ruus O \oh=
Cactus is found in the ecosystem; \ARBRIRR! T

(A) Forest Deser; | ~71 | fCyTras lan¢ | {_,) T_Jr.-dra
Mountain ofKi'r'nkorgrn_ isiucoter in majpr terrestiial-ecosystem in Pakistan:

(A) Grasslang=, | |1 "~ 1 (BY-CoritergUs alpine forest

(C) Temperat? oﬂ"lc uous orlast ': @)j Tundra
Tha-arctic tur diig suratches across Northern North America, Northern Europe and:

..--\“ Sl ~ &) siberia (C) Morocco (D) Nepal

tha Nuclear power station can last only for about:
(A) 10 years (B) 20 years 30 years (D) 40 years
In ocean of tropical regions, the temperature of surface water is about:

(A) 5°C (B) 10°C (C)-5°C 25°C

The most widely used source of energy on earth is:

(A) Wind Sun (C) Water (D) Geothermal
The upper weathered layer of earth crust is:

(A) Rock Soil (C) Sandy (D) Rhizome

It is not fossilized fuel:
(A) Lignite Peat (C) Natural gas (D) Oil
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It is a fossilized fuel:

(A) Water ) Oil (C) Wind (D) QOil

Which of the following is a renewable resource?

(A) oil and air (B) water and oil (C) oil and gas [(B)] air and Water

The world population is expected to be nearly doubled by: . [ =

(A) 2020 (B) 2030 d 2040, | A (Dj2050 [« ”

The decline in thickness of ozcre layei-is cassed DY incred sing I=vn| o4F

ChIoroquorocarbon(CFCs) /L iB) Nitroger /

(C) Chlorine—, | Y@ e albon-Diokite

Ozone in the: uopeL tayer of etrphspriere that filters:

(A) IR radiation | | \JE] 1V kagiaion  (C) P radiation (D) « radiation

SGifia c'uerqent« m'nq.n a lot of:

iy \.ulpn' i~ (B) Carbon Phosphate (D) Carbonates
olngle chlorine atom can react with ultraviolet rays and destroy as many as ozone molecule:

JAY] One million (B) Two million (C) One billion (D) Two billion

Water present Water and ice cup is:

(A) 01% ) 02% (C) 03 % (D) 04%

In pure form, Ozone is:

(A) Greenish (B) Reddish (C) Yellowish Bluish

Which of the following act as environmental buffers

(A) Deserts Forests (C) Industry (D) Fossil fuels

Oxides of Nitrogen cause:

(A) Lung Cancer Cough (C) Brain damage (D) Cholera

The atmosphere gas behaves like glass sheet of green house is:

(A) Oxygen (B) Hydrogen Carbon dioxide (D) Nitrogen

DD NDU A WN R

PR RPRERRRE PR
N~ WNEO

Cszcr:ou-:)

SHORT QUESTIONS (SQs)

What is lithotripsy? ™\ NN o A

What are pyrogens? : BRI RIBE RN A e

Differentiate between hypownwc mJ h)par onic! E’]\/ rwnmom — )
What are-a¢m aconformers and' Jsrloleg Maters? |
What is eztracoiiocyal shock viate lithardipsy?
What are flerneicalis?| W h) /UL, are called s0?
~Write >trLctu|aI forruia of urea and uric acid.
..| \Igiii| Mdinicostasis. Give its importance.
Differentiate between poikilotherms and homeotherms.
Differentiate between ectotherms and endotherms.
Differentiate between hemodialysis and peritoneal dialysis.
What are xerophytes? Give two adaptations of xerophytes.
Draw and label urea cycle.
[llustrate the function of Malpighian tubules.
What is sciatica and its causes?
What is foreman triosseum? How it is formed?
What is the role of vascular cambium?
What is axial skeleton?




